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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
D65: Σm−10,s(λ)=101,53

m−10,s(λ1,m,2)=2,37, 4,74, 2,36
λ1,m,2=496, 545, 593



EE130−5A_1

wavelength λ /nm
400 500 600 700

D50

0,0

2,5

5,0

7,5

10

HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
D50: Σm−10,s(λ)=99,88

m−10,s(λ1,m,2)=2,35, 4,72, 2,35
λ1,m,2=500, 550, 597
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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
P40: Σm−10,s(λ)=97,94

m−10,s(λ1,m,2)=2,26, 4,54, 2,26
λ1,m,2=503, 555, 603
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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
A00: Σm−10,s(λ)=94,43

m−10,s(λ1,m,2)=2,23, 4,47, 2,23
λ1,m,2=512, 560, 611
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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
E00: Σm−10,s(λ)=100,00

m−10,s(λ1,m,2)=2,26, 4,53, 2,26
λ1,m,2=498, 545, 599
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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
C00: Σm−10,s(λ)=101,37

m−10,s(λ1,m,2)=2,34, 4,71, 2,34
λ1,m,2=494, 550, 594
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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
P00: Σm−10,s(λ)=98,58

m−10,s(λ1,m,2)=2,23, 4,47, 2,22
λ1,m,2=501, 550, 603
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HPE_CIE10-cone sensitivity Ysum=100
m−10,s(λ)=B21x

−
10,s(λ)+B22y

−
10,s(λ)+B23z

−
10,s(λ)

B2j −0,2298 1,1834 0,0464 (λ~545)
Q00:Σm−10,s(λ)=101,41

m−10,s(λ1,m,2)=2,30, 4,60, 2,29
λ1,m,2=495, 540, 595


